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Figure 1: Top left: Sky coverage. Top right: Histogram of residuals. Bottom: Residuals vs.

day number.



S1E1

0 50 100 150
Day Number

-5

0

5

O
ffs

et
 (

m
m

)

S1E2

0 50 100 150
Day Number

-5

0

5

O
ffs

et
 (

m
m

)

S1S2

0 50 100 150
Day Number

-5

0

5

O
ffs

et
 (

m
m

)

S1W1

0 50 100 150
Day Number

-5

0

5

O
ffs

et
 (

m
m

)

S1W2

0 50 100 150
Day Number

-5

0

5

O
ffs

et
 (

m
m

)

S2E1

0 50 100 150
Day Number

-5

0

5

O
ffs

et
 (

m
m

)

S2E2

0 50 100 150
Day Number

-5

0

5

O
ffs

et
 (

m
m

)

S2W1

0 50 100 150
Day Number

-5

0

5

O
ffs

et
 (

m
m

)

S2W2

0 50 100 150
Day Number

-5

0

5

O
ffs

et
 (

m
m

)

E1E2

0 50 100 150
Day Number

-5

0

5

O
ffs

et
 (

m
m

)

E1W1

0 50 100 150
Day Number

-5

0

5

O
ffs

et
 (

m
m

)

E1W2

0 50 100 150
Day Number

-5

0

5

O
ffs

et
 (

m
m

)

E2W1

0 50 100 150
Day Number

-5

0

5

O
ffs

et
 (

m
m

)

E2W2

0 50 100 150
Day Number

-5

0

5

O
ffs

et
 (

m
m

)

W1W2

0 50 100 150
Day Number

-5

0

5

O
ffs

et
 (

m
m

)

Figure 2: Residual vs. day number.
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Figure 3: Residual vs. elevation.
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Figure 4: Residual vs. azimuth.



S1

  
POP

0

1000

2000

3000

4000

N
um

be
r 

of
 d

at
a 

po
in

ts

1 2 3 4 5

S2

  
POP

0

500

1000

1500

2000

2500

3000

N
um

be
r 

of
 d

at
a 

po
in

ts

1 2 3 4 5

E1

  
POP

0

500

1000

1500

2000

2500

3000

N
um

be
r 

of
 d

at
a 

po
in

ts

1 2 3 4 5

E2

  
POP

0

500

1000

1500

2000

2500

3000
N

um
be

r 
of

 d
at

a 
po

in
ts

1 2 3 4 5

W1

  
POP

0

1000

2000

3000

4000

N
um

be
r 

of
 d

at
a 

po
in

ts

1 2 3 4 5

W2

  
POP

0

2000

4000

6000

8000

N
um

be
r 

of
 d

at
a 

po
in

ts

1 2 3 4 5

Figure 5: Number of observations on each pop
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Figure 6: Residuals from the fit to the baseline solution color coded by the baseline. The

black crosses indicates the offset measured on sky using the baseline solution in use at the

time.


